
1

1

2

2

3

3

4

4

5

5

6

6

D D

C C

B B

A A

Title

Number RevisionSize

B

Date: 2/10/2009 Sheet    of
File: C:\User\..\FETIQDEMOD1.SchDoc Drawn By:

IN1

2
G

N
D

3
4

G
N

D
5

6
G

N
D

7

OUT 8

F1A

SCLF-XX

+IF1

+RF2

-RF3 -LO 4

+LO 5

-IF 6

G
N

D
7

G
N

D
7

U4A

PE4140

+IF1

+RF2

-RF3 -LO 4

+LO 5

-IF 6G
N

D
7

G
N

D
7

U5A

PE4140

GND

GND

GND

180R11A

180R13A

180R16A

180R18A

GND

GND

GND

2

3

1

7
4

6

5

8

U1A

AD829JR

2

3

1

7
4

6

5

8

U3A

AD829JR

2

3

1

7
4

6

5

8

U6A

AD829JR

2

3

1

7
4

6

5

8

U8A

AD829JR

10.0

R6A

10.0

R8A

10.0

R21A

10.0

R23A

1.00k

R2A

1.00k

R12A

1.00k

R17A

1.00k

R27A

2.2uH

L1A

2.2uH

L2A

2.2uH

L3A

2.2uH

L4A

100nF
C11A

1nF
C10A

47nF

C3A

47nF

C4A

47nF

C15A

47nF

C16A

1nF

C6A

1nF

C7A

1nF

C13A

1nF

C12A

1nF

C1A

1nF

C8A

1nF

C9A

1nF

C30A

J2A

TNC

GND GND

68pF

C2A

68pF

C5A

68pF

C14A

68pF

C17A

GND

GND

+15V

+15V

+15V

+15V

-15V

-15V

LOI_P

LOI_N

LOQ_N

LOQ_P

8
3

2
6

7
4

5

1

U2A

OP27GS

8
3

2
6

7
4

5

1

U7A

OP27GS

4.99k

R3A

4.99k

R9A

4.99k

R19A

4.99k

R24A

4.99k

R4A

4.99k

R10A

4.99k

R20A

4.99k

R25A

100.0

R1A

100.0

R14A

100.0

R15A

100.0

R28A

100.0

R5A

100.0

R7A

100.0

R22A

100.0

R26A

-15V

-15V

+15V

+15V

GND

GND

J1A

TNC

J3A

TNC

GND

GND

IOUT_P

IOUT_N

IOUT

QOUT

QOUT_P

QOUT_N

RFIN

QMON

IMON
100nF
C18A

100nF
C19A

100nF
C20A

100nF
C21A

100nF
C22A

100nF
C23A

100nF
C24A

100nF
C25A

100nF
C26A

100nF
C27A

100nF
C28A

100nF
C29A

GND GND

+15V +15V

-15V -15V

FETIQDEMOD/ MIXER CHANNEL

Paul Schwinberg

A

T1A

TC4-1T

D070375
31

   Nominal bandwidth is 155 kHz
   Nominal DC gain is 4.98

   Widebandwith modifications with 1.49 MHz bandwidth:
   L1: 220nH (2%) - Coilcraft 1008CS-221XGLB
   C3: 4.7nF (5%) - Mouser 581-12065A472F
   C1: 100pF (1%) - Mouser 80-C0805C101F1G
   Optionally:
   U2: AD829JR - Digi-Key AD829JRZ-ND
   C80: 68pF - Digi-Key PCC680CGCT-ND

NL
C80A

GND

NL
C81A

GND

   Bandwidth options are:
   5 MHz - SCLF-5+
   8 MHz - SCLF-8+
   10 MHz - SCLF-10+
   23 MHz - SCLF-23+
   25 MHz - SCLF-25+
   27 MHz - SCLF-27+
   30 MHz - SCLF-30+
   36 MHz - SCLF-36+
   45 MHz - SCLF-45+
   65 MHz - SCLF-65+
   95 MHz - SCLF-95+ (nominal)
   135 MHz -SCLF-135+
   190 MHz -SCLF-190+



1

1

2

2

3

3

4

4

5

5

6

6

D D

C C

B B

A A

Title

Number RevisionSize

B

Date: 2/10/2009 Sheet    of
File: C:\User\..\FETIQDEMOD2.SchDoc Drawn By:

J4

TNC

T3

TC1-1T

VCC1 1

AOUT 2AOUT 3

AIN4 AIN5

BOUT 6BOUT 7

VEE8

BIN9 BIN10

VBB11

CIN12 CIN13

COUT 14COUT 15

VCC2 16

U10

MC10H116D

T2

TTCM4-4
T4

TTCM4-4

150

R41

150

R45

150

R50

150

R54

5.1

R36

5.1

R37

5.1

R46

5.1

R47

5.1

R51

5.1

R52

5.1

R58

5.1

R59

NL
R49

GND

C33

3-40pF
GND

VBB

VBB
100k

R30

49.9k

R42

49.9k

R55

100k

R68

100k

R29

10.0

R64

10.0

R31

1nF
C48

1nF

C53 1nF

C47

1nF

C40

100nF

C56

100nF

C34

100nF
C37

100nF
C36

100nF

C51

100nF

C54
GND

GND

GND

+5V +5V

+5V

-5V

-5V

GND

GND

GND

GND

8
3

2
6

7
4

5

1

U9

OP27GS

8
3

2
6

7
4

5

1

U14

OP27GS

100nF

C31

100nF

C58

4.75k

R66

249

R67
GND -5V

+5V

+5V

-15V

-15V

ISET

ISET

ISET

200

R33

200

R48

200

R53

200

R63

20

R57

20

R61

22.6

R35

22.6

R44
180
R39

180
R40 10.0

R38

10.0

R62

1.00k

R32

1.00k

R65

NL

C35
GND

NL
L5

NL
L6

NL
C38

NL
C41

NL
C49

NL
C55

C39
3-40pF

C52
3-40pF

200

R34

200

R43

200

R56

200

R60
GND

GND

GND

GND

GND

LOI_P

LOI_N

LOQ_N

LOQ_P

+I
F

1

+R
F

2

-R
F

3
-L

O
4

+L
O

5

-I
F

6

GND 7GND7

U12
PE4140

TP3

TP4

TP5

TP6

1nF
C43

1nF
C45

100nF
C44

100nF
C46

2

3

1

7
4

6

5

8

U11

AD829JR

2

3

1

7
4

6

5

8

U13

AD829JR

GND

GND

1nF

C57

1nF

C32

GND

+15V

+15V

-15V

68pF
C42

68pF
C50

GND

SQ_P

SQ_PSQ_N

SQ_N

LOI_PLOI_N

PH_N

PH_P

LOQ_P

LOQ_N

LOI_N

LOI_P

LOQ_P

LOQ_N

LOI_P

LOI_N

LO IN Q2

MMBT3906

Q3

MMBT3906

Q4

MMBT3906

Q1

MMBT3906

8
3

2
6

7
4

5

1

U15

OP27GS

8
3

2
6

7
4

5

1

U16

OP27GS

4.99k

R70

4.99k

R75

10.0k

R69

10.0k

R74

NL

R71

NL

R73

100k

R72

GND

PHASE

PHASE

PH_P

PH_P

PH_N

PH_N

1uF

C59

100nF
C60

100nF
C61

100nF
C62

100nF
C63

100nF
C64

100nF
C65

100nF
C70

100nF
C71

100nF
C66

100nF
C67

100nF
C68

100nF
C69

GND GND

+5V +15V +15V

-15V -15V-15V

-15V

+15V

+15V

FETIQDEMOD/ LO GENERATION

Paul Schwinberg

A
2

D070375

(0dBm)

TP1

TP8

TP10TP9

TP7

TP2

3

D1

MV209
D2
MV209

D3

BAS16



1

1

2

2

3

3

4

4

5

5

6

6

D D

C C

B B

A A

Title

Number RevisionSize

B

Date: 2/10/2009 Sheet    of
File: C:\User\..\FETIQDEMOD3.SchDoc Drawn By:

LOQ_P
LOQ_N

LOI_N
LOI_P

LO GEN
FETIQDEMOD2.SchDoc

LOI_P
LOI_N

LOQ_N
LOQ_P

IOUT_P
IOUT_N

IOUT

QOUT
QOUT_P
QOUT_N

REPEAT(MIX,1,1)
FETIQDEMOD1.SchDoc

LOI_P
LOI_N

LOQ_N
LOQ_P

IOUT_P
IOUT_N

IOUT

QOUT
QOUT_P
QOUT_N

REPEAT(MIX,3,3)
FETIQDEMOD1.SchDoc

LOI_P
LOI_N

LOQ_N
LOQ_P

IOUT_P
IOUT_N

IOUT

QOUT
QOUT_P
QOUT_N

REPEAT(MIX,2,2)
FETIQDEMOD1.SchDoc

LOI_P
LOI_N

LOQ_N
LOQ_P

IOUT_P
IOUT_N

IOUT

QOUT
QOUT_P
QOUT_N

REPEAT(MIX,4,4)
FETIQDEMOD1.SchDoc

LOI_P LOI_P

LOI_P

LOI_P

LOI_P
LOI_N

LOI_N

LOI_N

LOI_NLOI_N

LOQ_P LOQ_P

LOQ_P

LOQ_P

LOQ_P
LOQ_N

LOQ_N

LOQ_N

LOQ_NLOQ_N

IOUT1_P

IOUT2_P

IOUT3_P

IOUT4_P

IOUT1_N

IOUT2_N

IOUT3_N

IOUT4_N

QOUT1_P

QOUT2_P

QOUT3_P

QOUT4_P

QOUT1_N

QOUT2_N

QOUT3_N

QOUT4_N

IOUT1

IOUT2

IOUT3

IOUT4

QOUT1

QOUT2

QOUT3

QOUT4

D070375 A

FETIQDEMOD/ TOP

Paul Schwinberg
3

GND

+5V

-5V

GND

3

Vin1

2

Vout 3

GND

U17 7805

Vin2

1

Vout 3

GND

U18 7905

100u

C75

100u

C72

100u

C76

100u

C79

100nF

C73

100nF

C74

100nF

C78

100nF

C77

D4

BAS16

D5

BAS16

D7

BAS16

D6

BAS16

TP11 TP12

TP17 TP18

GND

GND

GND

GND

TP13 TP14 TP15 TP16

+15V

-15V

 

GND

IOUT1_P IOUT1_N
QOUT1_P
IOUT2_P
QOUT2_P

IOUT3_P
QOUT3_P
IOUT4_P
QOUT4_P

QOUT1_N
IOUT2_N
QOUT2_N

IOUT3_N
QOUT3_N
IOUT4_N
QOUT4_N

IOUT2
QOUT2
IOUT3
QOUT3
IOUT4
QOUT4

IOUT1
QOUT1

1
3
5 6

4
2

7
9 10

8

11
13 14

12

15 16
17 18
19 20
21 22
23 24
25 26
27 28
29 30
31 32
33 34
35 36
37 38
39 40
41 42
43 44
45 46
47 48
49 50

P1

09 18 550 6329

GND

GND GND

+15V

-15V

GND GND

U17_B heatsink

U18_B heatsink

H1 #4 screw, 3/8" H2 #4 screw, 3/8"

H3 #4 lock washer H4 #4 lock washer

H5 #4 nut H6 #4 nut

GND

DS1

300
R76

+5V

GND

DS2

300
R77

-5V


